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X=98,07,Y,,=100,002,,~118,22 B*
¥w=0,3100y,,=0,3161

10
A*o=(@g~[a0,a0,y* 30 A Y1e(Y/Y19) /3

B 5=(bo~[bo 1+ Do,y b A1) Y1e( /Y1) /3
ag = a [Xly]

bg = byq [2/}]

ay =1, byp=-0,4

n=C00 -10

g y=ay(Y/Y1g~1)
bo,y=boy (Y/Y1g-1)
ayy=-0,002 b,y=-0,002
ap,4=0,003 by 4=0,002
Munsell-System Y,=100
C=2,Vv=1,2,5,8&9, C00
Buntheit (A*o, B*o)
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X,=98,07,Y,,~100,007,~118,22 B* ,
xW—O 3100y,,=0,3161

T
=8y ptag y+ag o)) Yae(Y/Y19) /3

1—(b1 [by.#by y+by Al Y1g(Y/Y191/3
a; = ay [(x=0,171/y] 4
by =y [2/Y]
ay =1, byp=-0,4

a1 y=ay(Y/Y1g-1)
by y=boy(Y/Y1g-1)
ayy=-0,002,b,y=-0,002
a; A=0,003,b; 5=0,002
Munsell-System Y,=100
C=2,Vv=1,2,5,8&9, COO T

Buntheit (A*4, B*;)

r—-10
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Xw=98,07,Yy=100,00Z,~118,22 B*
¥, =0,3100y,,=0,3161
A*p=(@g[ap rtap v Al YieY/Y19) /3
B* = {0y [z, * D2, b2 A Yae(Y/Y19) /3
8y =2y [(x-0,17Dh]
b,=ba0 [(Mp1x+bp1)/Y]
a0= 1, byo= 0,4
Mpy=—0,169,0p;=0,389
n=C00 -10
8 y=agy(Y/Y1g~1)

by y=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002

a3 4=0,003,b, 4=0,002
Munsell-System Y,=100
C=2,Vv=1,2,5,8&9, COO
Buntheit (A*,, B*,)
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X,=98,07Y,,=100,00Z,~118,22 B*

%=0,3100y,,=0,3161

A 3= (ag[3g,n+a3 a3, a]) Y1e(Y/ V19 13
B g=(03[ba r*ba.y +ba A Y Y/Y19 /3

ag =ay [(x-0,17D/y] i

b3=ba [(Mp1x+bp1)/y]

ay=1, byp=-0,4
mp;=-0,974,bn1=0,658 . /

T10

n = C00 ~10 ' g
ag y=ay(Y/Y1g-1)

b y=boy(Y/Y1g-1)
ayy=-0,002,b,y=-0,002
a3 4=0,003,b3 5=0,002
Munsell-System Y,=100
C=2,Vv=1,2,5,8&9, COO T

r—-10

Buntheit (A*3, B*3)
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Xy=98,07,Y,,=100,00,2,,=118,22 B*
XW—O 3100y,,~0,3161 +1
=(ag~[a 8 yrag ) Vi YY1 L3
4—(b4 [4,+ba y+by, ) Yae(YIY19 13
a4 =ay[(x-0,17Dh] i
b=ba0 [(Mp1x+bp1)/Y]
ay =1, byp=-0,4

mp1=-0,169bp(=0,389 . A
n=C00 -10 s
ay y=apy(Y/Y1g-1)

by y=boy(Y/Y1g-1)
a,y=—0,002,byy=-0,002
a4,4=0,003,b, 4=0,002
Munsell-System Y,=100
C=2,Vv=1,2,5,8&9, C00 T
Buntheit (A*4, B*4)
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Xw=98,07,Y,,~100,00Z,~118,22 B*,
xW—O 3100y,,=0,3161
5=(8618s v,y 35 ) V1l YV19) /2
5—(b5 [bs n+bs y+0s5 Al) Y14(Y/Y1g)

a5=2,,{(0,86¢-0,71y-0,026))] .

b5=b2x[(0,19(+0,3&/—0,24)/)/]

T10

=1,00,b,, = 1,00 m
)\B 6,v,R=475,503,574,494¢ E nm

n=C00 _10

a5 y=agy(Y/Y1g~1)

bs y=boy(Y/Y1g-1)
apy=-0,002,b,y=-0,002
a5 4=0,003,b5 4=0,002
Munsell-System Y,=100

C=2,V=l,2,5,8&9, CO0 T

Buntheit (A*g, B*5)

r—-10
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Xw=98,07,Yy=100,00Z,~118,22 B*
¥, =0,3100y,,=0,3161
A*6=(@g~[ag, 86, v+ 36, Al Y1e(Y/ Y19 1/3
B*6=(Dg~[b6,11* Dy b A1) Y16(Y/Y19) /3
g = ago [x/Y]

be=ba [(Mp1x+bp1)/y]
a0= 1, byo= 0,4
Mp1=-0,974 b;=0,§58
n = C00 -10
ag y=ay(Y/Y1g-1)

be, y=boy(Y/Y1g-1)
ayy=-0,002,b,y=-0,002
a5 A=0,003,bg 5=0,002
Munsell-System Y,=100
C=2,Vv=1,2,5,8&9, COO
Buntheit (A*g, B*g)

A*g
10
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